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Benha University Faculty of Computers & Al
1%t Term (February 2021) Final Exam Date: 27 /2 /2021
Information Security and Digital Forensics Program Time: 3 hrs.
Level: 1% level Total Marks: 50 Marks
Subject: Qualifying Mathematics Examiner(s): Dr. Ahmed Megahed

Choose the correct answer [ 25 questions in 3 pages]:

1-  The point A(2, —3,0) lies
(a)on the z-axis b) inthey z-plane  (c) in the x y- plane (d)on the x-axis

2-  The distance between the point (2,-3,5) and the x-z plane equals length unit.
(a) 2 b) -3 (c)3 (d) 5

3-  The perpendicular distance from the point (-5,-3,4) to the x- axis = ... length unit.
(a) 3 b) 5 (c)4 (d) 10

4- 1f A(-4,-2,3), B(1,2,k) and the length of AB = /77 , then k=

(a)-3or6 b) )-30r12 (c))9orb6 (d)9or-3
5-  The radius length of the sphere x4+ vi+zi42x—6v+10z2—1=0 equals
()3 b) 4 (c)5 (d) 6
6-  The equation of the sphere whose center is the origin and its radius length=3 is
(a) x*+y*+z*= (B)x*+y*+ 2=
()x—2)+(v—3)*+(z—2)* = (d)x*+v*+z*+9=0
7-  The area of the sphere whose equation x* + ¥* + z% — 25 = 0 equals... area units
(a)20m b) 40 @ (c)25m (d) 100
8- ‘sinx COS X ‘ _
cosx —sinx
(a) zero b) 1 (c)-1 (d) cos 2x
- 3 1 2 1 1 2
4 0 5/=|1 0 5|+
5 3 7 1 3 7
2 1 2 3 1 2 2 1 2 2 1 2
@l|3 0 5 b) |4 0 & (c)|4 0 5 dif2 0 &5
4 3 7 5 3 7 2 3 7 3 3 7




10-

11-

12-

13-

14-

15-

16-

17-

18-

19-

20-

21-

22-

a b ¢ a d x
Ifld e fl=12thenlb e v|=
X y =z c f =z
(a)-12 b) 12 (c) zero (d)24
x 1 2
The solution set of equation [0 x 3| —&=0in R is
0 0 x
(a){-2} b){2} (c)i{2,-2} (d){8}

The singular matrix from the following matrices is ...

O 0 I 1 G IR CT G4 ') (S
If = (; _25] , then adj (A)=...
@3 ) o ) w3 e )

If A and B are two non singular matrices, then (4877 equals...

(a) AB b)AT'BT! (c)B~tA™Y (d)(BA) ™

If A, B, C are three matrices of ordern xnand ABC = I, thenB™! = -~
(a)A™*c? b) (AC)™? (Cc™t+41 (d)CA

If A,B are two matrices of order 3 x 3 and A=2B, det(B)=5, then det(A)=
(a) 8 b) 16 (c) 32 (d) 40

For any square matrix Aif A — A+ I =0thend™! =
(a)d™* b) A+1 ()l — A (dA—1

Value of which makes the matrix ( * i) is singularis ...

(a) 2 b) -2 (c) 0.5 (d) -3

If A'is a matrix of order 2 x 2 and det ( A)=5, then det (3A)=...
(a)5 b) 15 (c) 45 (d) 10

The solution set of the equation z* + 9 = 0 in Cis

(a) {3,-3} b) {i,-i} (c) {3i,-3i} (d) {-9}

fz=a+biz+z=6thena=
(a) 3 b) -3 (c)6 (d) -6

The number z=3-4i is represented on Agrand's diagram by the point A where A=

(a) (3,4) b) (3,-4) (c)(-3,4) (d) (-3,-4)




23- The complex number z=-2i in trigonometric form equals
(a) 2(cos90" +isin90") (b)2(cos—90 +1isin—90")

(€)2(cos0” + isin0) (d)2(cos180" + isin 180)
24- If|z| = 6 then |-zZ|=--
6 b) -6 1 —1
(a) ) () (d)—
25- =..[5(cos10 +isin10)]?
(a) 25(cos 100" +1isin1007) (b)10(cos 100" + isin1007)
(c)25(cos 20" + isin 207) (d)10(cos20 + isin20)
GOOD LUCK,

Dr. Ahmed Megahed
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